11”56 (Kl 1n56)

Lo )\ e

k/\lj Solving Sequence

6,10 >7—>11—->14—>2—>3—9—5— 8 —>> C3,C4,C7

. ¢ Cio Cn 1 €2 C9 cs  C8
A knot dlagranﬂ

Ideals for irreducible component#ﬂ)f Xpar
= w? —u? 4+ b, e a1, uB 20— 2u 1)

I;:(—u3+b+u+1, —ut — P+l a+u, u6—|—u5—u4—2u3—|—u+1>

* 2 irreducible components of dim¢ = 0, with total 29 representations.

1The image of knot diagram is generated by the software “Draw programme” developed by An-
drew Bartholomew(http://www.layer8.co.uk/maths/draw/index.htm#Running-draw), where we modi-
fied some parts for our purpose(https://github.com/CATSTAILs/LinksPainter).

2 All coefficients of polynomials are rational numbers. But the coefficients are sometimes approximated
in decimal forms when there is not enough margin.
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1.
I = (u?2—u?+4...—u3+b, —u??*+u?'+..-+a+1, u?®-2u?24...—2u+1)

(i) Arc colorings

0
a10 = \u
1
a? — u2
—u
an =\ —ud +u
3
ar = \—ud+u
u? -l o4 2u—1
ag = \ —22 4 42! 4. Sud + 3
w0 —u o —u41
ag = \ 422 — 42! 4. ud + u2
w22 — g2l . 4ud + 2
az= w2 2l 4. 422y
ud
ag = \uy® —ud+u
wd—uS+ut+1
as = \ 0 — 248 4+ 3ub — 2ut 4+ u?
—ull 4249 — 2u" + B
ag = \ —ut 4+ 30 — 44" 4+ 3u® —ud +u
—u' 4209 — 27 4B
ag = \ —yM 430 — 4"+ 3’ —ut 4+ u
(ii) Obstruction class = —1

(iii) Cusp Shapes
= 8u?? — 10u?' — 40u?° + 65u! + 85u!® — 190u'” — 61u!® + 307u'® — 81ul* — 264u!® +
228ut2 + 59utt — 203ul0 4+ 86u? 4+ 76ud — 58u” — 12u® — 8u® + 26u* — Tu> + 3u2 + 8u — 10



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing

c1,Cy uB TP —Tu+1

C2 u® £ 350 4+ 1w+ 1

c3,C7 uB —u? 4. 4 128u+ 64

Cs u? —2u?? + ... — 108u — 36
Cg, C10 WP+ P4 —2u—1

c8 uP 240 o 2u 41

Co uB 120+ 4 2u+1

c11 uP +6ur - —18u—7




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
1,4 Yy =35y . 1ly— 1
C2 Yy =8y 4. 15y — 1
€3, Cr y* 4+ 39y%2 + .- + 28672y — 4096
Cs y® +12y%2 + .- + 10296y — 1296
€6, C10 y? — 122+ 42y —1
cs Y2 ASy2 4+ 2y — 1
Cy Y2 424y by — 1
c11 y? 412022 + - 4282y — 49




Solutions to I}

(vi) Complex Volumes and Cusp Shapes

V=1 (vol + y/=1CS)

Cusp shape

0.797336 + 0.7022361
= —1.35368 + 0.499601
= —0.843379 + 0.4944571

—9.64155 — 2.653691

—2.71409 + 2.869151

= 0.797336 — 0.7022361
= —1.35368 — 0.499601
= —0.843379 — 0.4944571

—9.64155 + 2.653691

—2.71409 — 2.869151

= 1.027390 + 0.3668731
= 0.534979 + 0.3413861
= —0.263822 + 0.2753291

—1.85876 — 1.443801

—2.27537 + 0.682391

= 1.027390 — 0.3668731
= 0.534979 — 0.3413861
= —0.263822 — 0.2753291

—1.85876 + 1.443801

—2.27537 — 0.682391

= 0.255023 + 0.8558221
= —0.831897 — 0.0029201
= 0.09815 — 2.485081

—12.76380 + 5.098741

—3.17808 — 1.983071

0.255023 — 0.8558221
= —0.831897 + 0.0029201
= 0.09815 + 2.485081

—12.76380 — 5.098741

—3.17808 + 1.983071

= —1.079080 + 0.5368041
—0.144531 4 0.9264531
= 0.323737 + 0.8430291

—0.53628 + 5.306611

1.77241 — 5.118761

—1.079080 — 0.5368041
—0.144531 — 0.9264531
0.323737 — 0.8430291

—0.53628 — 5.306611

1.77241 + 5.118761

—1.141520 4 0.4164141
0.33767 — 2.487151
= —1.03478 — 2.113641

—5.57676 + 2.330701

—7.43736 — 2.841761

= —1.141520 — 0.4164141
= 0.33767 4 2.487151
= —1.03478 + 2.113641

—5.57676 — 2.330701

—7.43736 + 2.841761




Solutions to I}

V=1(vol + y/=1CS)

Cusp shape

0.693757 + 0.3592791
a= 0.576016 + 0.8506721
b= —0.158914 — 0.2031161

u =

—0.87588 — 1.512541

—2.24997 + 5.092211

w= 0.693757 — 0.3592791
a= 0.576016 — 0.8506721
b= —0.158914 + 0.2031161

—0.87588 + 1.512541

—2.24997 — 5.092211

u= 1.146720 4 0.4792061
a = —1.60133 — 1.318911
b= 0.29675 — 1.853711

—5.12386 — 5.672091

—6.64054 + 5.012711

w= 1.146720 — 0.4792061
a = —1.60133 + 1.318911
b 0.29675 + 1.853711

—5.12386 + 5.672091

—6.64054 — 5.012711

u = —0.401701 4+ 0.6179731
a= 0.562564 + 0.0781861
b= 0.450330 — 0.3861641

1.43616 — 0.726151

6.25783 + 0.919421

u = —0.401701 — 0.6179731
a= 0.562564 — 0.0781861
b= 0.450330 + 0.3861641

1.43616 + 0.726151

6.25783 — 0.919421

u = —1.235200 + 0.2780471
a = —0.73735 + 2.607041
b= 1.07712 + 1.984191

—17.5522 — 1.48691

—8.02521 — 0.251801

u = —1.235200 — 0.2780471
a = —0.73735 — 2.607041

—17.5522 + 1.48691

—8.02521 + 0.251801

b= 1.07712 —1.984191

u = —0.718932

a = —1.72386 —2.53646 —1.61890
b= —-1.61562

1.182790 + 0.56 79831
a= 2.25195+2.103731
b= 0.17909 4 3.140851

u =

—15.5409 — 10.33721

—6.00224 + 5.468791




Solutions to I} Vv—1(vol +/—1CS) Cusp shape

1.182790 — 0.5679831
2.25195 — 2.103731 —15.5409 + 10.33721 | —6.00224 — 5.468791
0.17909 — 3.140851

0.113951 + 0.6444211

= —0.232464 — 0.8431861 | —2.25261 + 1.369831 | —3.69794 — 1.432931

—0.316473 + 1.3330701

> Q@ €|l & €| & &

0.113951 — 0.6444211
—0.232464 + 0.8431861 | —2.25261 — 1.369831 | —3.69794 + 1.432931
—0.316473 — 1.3330701




IL 1Y =(—u?+b4+u+1, —u*—ud+uv?’+a+tu, ub4+u’—u*—2ud+u+1)

(i) Arc colorings

az =
ag =
as =

(
(
(
(
ag = ( uw —u—1
(
(
(
(
(

oo (1)

(ii) Obstruction class =1

(iii) Cusp Shapes = 4u* — 3u? — 3u — 3



(iv) u-Polynomials at the component

Crossings u-Polynomials at each crossing
! (u—1)°
6
C2,Cq (u =+ 1)
C3, Ct u6
Cs5, €8, C10 W= —ut 20 —u+1
6 ub +ud —ut =20t u+1
Cg, C11 uw® —3u® +5ut — 4P+ 20 —u+1




(v) Riley Polynomials at the component

Crossings Riley Polynomials at each crossing
6
C1,C2,C4 (y_l)
C3,Cr7 y6
Cs5,Co, C8 y® — 30 + 5yt — AP+ 22—y + 1
C10
€9, C11 v+’ + 5yt + 6y +3y+1
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(vi) Complex Volumes and Cusp Shapes

Solutions to I3 v—1(vol + /—1C5) Cusp shape

1.002190 + 0.2955421
—0.685196 4 1.0632601 | —3.53554 —0.924301 | —6.79748 + 1.682151
—1.258210 + 0.5691621

1.002190 — 0.2955421
—0.685196 — 1.0632601 | —3.53554 + 0.924301 | —6.79748 — 1.682151
—1.258210 — 0.5691621

—0.428243 4 0.6645311
0.917982 + 0.2707081 0.245672 — 0.9243051 | —1.96974 4 0.889601
—0.082955 — 0.5923791

—0.428243 — 0.6645311
0.917982 — 0.2707081 | 0.245672 + 0.9243051 | —1.96974 — 0.889601
—0.082955 + 0.5923791

—1.073950 + 0.5587521
—0.732786 + 0.3812521 | —1.64493 + 5.693021 | —5.23279 — 6.151961
—0.158836 + 1.2001401

—1.073950 — 0.5587521
= —0.732786 — 0.381252] | —1.64493 — 5.693021 | —5.23279 + 6.151961
= —0.158836 — 1.2001401

>~ Q@ S|l & €| & €| @ €| & &8> & &
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ITI. u-Polynomials

Crossings u-Polynomials at each crossing
! (u—1)%(Wu® —Tu** 4 —Tu+1)
C2 (u+1)%)(u?® 4+ 35u®2 + -+ 11lu+ 1)
cs, c7 ub(u?® —u?? 4 .- 4 128u + 64)
C4 (u+ 1)) W? = Tu®? + - = Tu+1)
Cs (ub —u® —ut + 20 —u+1)(u®® — 2u* 4 -~ — 108u — 36)
6 (b +ud —ut =20+ u+ 1) (W + 202+ —2u—1)
s (b —u® —ut +2u® —u+ 1) (u® + 240 + -+ 2u+ 1)
€9 (ub — 3u® + 5ut — 4u 4+ 2u? —u+ 1)(u®> + 12022 + -+ 2u 4 1)
€10 (b —ud —ut +2u® —u+ 1) (W + 202+ —2u—1)
c11 (u® — 3u® + 5ut — 4u® + 2u? —u+ 1) (u® +6u*? - — 18u —17)

12



IV. Riley Polynomials

Crossings Riley Polynomials at each crossing

c1, ¢ (y =D (> = 35y> + - + 11y — 1)
€2 (y— 1% (> —8Ty** + - + 15y — 1)

cs, cr YO (y?® 4 39y%2 + - - - + 28672y — 4096)
cs (y® — 3y° + 5y* —4y® + 2% —y + 1)

S(y* 4 127 4 - + 10296y — 1296)

C65 C10 (y° = 3y° +5y* —4y® + 20> —y + 1) (¥ — 129 + - + 2y — 1)
cs (v° = 3y° +5y" —4y° + 20" —y + 1)(y* +48y*° + - + 2y — 1)
c (° + 4% + 5y + 6y + 3y + 1) (v +24y”' + - + 6y — 1)
c11 (y® +o° + 5y + 6% + 3y + 1)(y*> + 12972 + - - + 282y — 49)
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